!
r -

* $SC PA gt]éﬁth ¢k \S
COMPUTER SCIENCE | VV‘R@O “) bééu S () Ul
TIME ALLOWED: 1 HWS JECTIVE Sl 145 =
(’7 — 40 = /'.]L/K
Ngyxl,1 \erte same question number -+aj:u:%44fyﬁ§f§ Z‘/J}/’,‘;}ZJ}'/T‘;JI!’LS"J{_QKQ’}? kil

and its part number on answer book, as given in the question paper.
SECTION-l Ji.o

2. Attempt any four parts. 8§=2x4 .,éff..tliaif]w:_df Z/JIr
(i) What is meant by programming environment? °¢)L/Jc..*.//iil.¢l/u (i)
(i)  Write two rules for naming variables. _u:):/fdr‘lulefjrti.gt/f’ (ii)
(i)  Differentiate between "char" and "int". UG Auend Mint" st "char" (i)
(iv)  Define logical operators. = j/u;v‘/JJJj:{Tg’? (iv)
(v)  What is the use of format specifier in C-language? ‘.’[;Ji.ﬁflg(z’w;{muié:@-c (v)
(viy  Differentiate between unary operators and binary operators. du’)’ytz-""/'g,ﬁj‘-ﬁdj"t sl };'/?d/}’ (vi)
3. Attempt any four parts. 8=2x4 -r__ff_,wélfulm.df 230
(i)  Define control statements. ) f_»wm v 0]
(i) Why do we need selection statements? fet '?u/uu/’»fufwﬂf (i)
(i)  Identify the errors in the following code: _,...QJJLL/}VJJ;;JL (iii)

if (x =10) O\ ’__j\\ N |' 'K'/f OCBV\S’“*O)

printf ("Good": IARSERIRAREN [ -~ printf ("Good"):

e )

(v)  Write tHe example ofthe déﬁclarat{om dfa ﬁpat \ - f‘UVJJ,«V g‘._;lul,_,ﬁ’if_ LA, LJ*’ZL (v)
type aray that\qq}QH mafks btf be'stidents.

(iv)  Write the structure of |£staiement -y \_
‘W

(vi) \Qf b\ilaﬁé tructure s A Al (i)
4. Attempt any four parts. 8=2x4 -ggfa@lﬁﬁlzl@cﬁf -4/',‘U|r'
(i)  Define loop. -u:'fr-—éf/”“u(\-,-«f’ (i)
(i)  Wirite output of following code: -u:“’g._‘f*.:i?’ﬁﬂ:j@u (ii)

for(inti=0; i<2;i++) . for (inti=0; i<2; i++)
printf ("Pakistan\n"); ' printf ("Pakistan\n");
(i)  What is divide and conquer rule? fe. L‘J’igdr‘fgu(aﬂb//(:’; (iii)
(iv)  Define function. ‘L,ff...y /‘Td/fﬁ (iv)
(v) Write two advantages of function. _q}} /fv’l;’u._f..uig (V)
(vi)  Differentiate between argument and parameter. ?g_J)gfuiﬁlﬁ 71 _.,,_»,CT (vi)
SECTION-II (132
NOTE: Attempt any two questions. 16=8x 2 _c’_(//utffcf.umfuz’_.d}( -2
5. What is meant by comments in C Program? 2 +2 +4 &l Al % el Ve Lfv{f(" 1-&6\ -5
Describe purposes and types of comments. ' ~ ; \ (7 PL j \J
6. Explain the use of printf( ) and scanf( ) in ej 4 ﬂz;u‘.wf f.\s@a;ff@/l @}(-) i,c:we’ g -6
C-language with examples. V. \ \ (O \\ ‘\) \ e 7,!

ﬁ %4‘ S{r furé Bv’_u‘“ 'I/"/b’z,/\_z/k_}'"K/Lfd__ra._fJWf 4 For =
7. Write a program usmq F‘pr Ibélp \o-pé\n\ taﬁle”\of‘aﬁy number.

‘\J I\N«, 3\\ 38(N)-2022-(A)-16000  (MULTAN)



| 02(8) \\j FPAATS
= SSCPART (10th cmss)/ N ”L//l’/
CQMPUTER SCIENCE mawcousasg GROUPHT ™~ l/»__,,/ (k) lomd
TIME ALLOWED; NN Houms _ SUBJECTIVE El» 145 = =8
MAXIN urﬂ\wﬁk\s'lo 40 = A4S

NOTE Write same question number -4-Cmf L/J’}Jié LA/";]»!/UV&;/G(GV Y
and its part number on answer book, as given in the question paper.

SECTION- Jil.e

2. Attempt any four parts. 8=2x4 -éf/'"uLlif.libb;.Jf 2
()  What do you know about text editor? “J‘:_W/ Ufr__:LL/MJ (i)
(i)  Whatis compiler? "c.L»U'U’ (if)
(i)  Write the purpose of syntax. é//wmmu (iii)
(v)  Whatis the difference between printf( ) and scanf( )? S J/YUt scanf( ) 4l print( ) (iv)
(v)  Define assignment operator. é & /JfflJ L ().

(vi)  Define Modulus operator. cf..d /"d}/luJ»L (vi)

3. Attempt any four parts. 8=2x4 éxf.,twélfuw,df 34 v

(i)  What is sequential control? e L/J:/ g 5 (M)

(i) Whatis the output of the following: *’c.uf_f_mJJJc» (i
inta=3, b=5; inta=3, b 5
a=a+h; ] ’,_-m-—’:' o~ h; O\
fla>8&&b<8) —N\\ | o (a\>ﬁ 88b< 8)
b=a+b Q A ¥ N [~ b=a+b;
printf ("a=%d, b=%%c", a, b, \ \//\ \[ () \\ 2 T printf 'a = %d, b = %d", a, b)

(i) Write the purpose of if siétemen‘(( " ey jlﬂ‘(.,/ it (i)

(iv)  Write structure of if- else statement L4 &U; ik ifelse (iv)

) Defpparaff\ N o\ FEafles W

(vi) S [p?tjlére anarray of ﬂoat type to store marks of 40 students. éf/g::_ﬂu-tr._,:"iééu/iﬁ 40 (vi)

4. Attempt any four parts. 8=2x4 a‘_(//_,tliél]bbc,df 44y

(i) Identify the errors of this code. - fdﬁ ufurb’v)[m (1)
for(int x=0; x <5; x++) for(int x=0; x<5 x++)
printf("PAKISTAN'): printf("PAKISTAN"):

(i) Write the output of this code. -u‘fﬁ A i
int x; intx;
for('x=0;x<3;x++) for(x=0; x<3;x++)
printf( " ¥¢\n"); printf( " ¥7\n");

(i)  Define user-defined functions. iw /U > .,lewf (iii)

(iv)  How a function is called? "abbb'/db”z‘_rf (iv)

(v}  Differentiate between arguments and parameters. S JAUE iK1 u‘" f )

(vi)  What is meant by function body? “4"..:1/9';.6 Sl (vi)

SECTION-Il /.2

NOTE: Attempt any two questions. 16=8x2 5/ f...uicﬁ_,ulmgéf \_\:J

5. Whatis variable? Write down the rules 2+6=8 ) jm,v:é(m%uaﬂ fsi.ryws’ 5

for naming variable in C-language. %

6. Explain the use of printf( ) 454 .ﬂ#muﬂﬁfdw/g sc)an*f J}[ printf( U~ E,QC -6

and scanf( ) functlor;sm C-Iar_lguagé wﬁh eb(a Ies.‘ \;A VN
Structure = 4 Logm 34\\ rﬁ{ _@,):_,,6" F 110 = &L Mor' fu"‘jrlf P (I

7. Wr:te a pro%qrr\ﬁmg "fm" IOo,nlomnnt counhng from 1-10.
J H\ ‘ \ 40(N)-2022-(A)-10000  (MULTAN)
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PAPER CODE A %92 (AQJ &
RUmBER: 3831¢ \\(ﬂﬁf{"“{ﬂ\' GLASS)

COMPUT WNSE\ \(NEW COUSRSE) GROUP-! e - -r’; (i) u’v/‘;_-{
le ‘%\NED 15 Minutes OBJECTIVE U‘ﬁ w15 = =

MAXIMUM MARKS: 10 , 10= AF
.= ﬁLJijJ:IL‘-’J:WLVIﬁ:/J::.J u:?béé.:&b&dlrﬁ{qwlﬁ -uj.‘_f.{..- D 4l CB A .:.Llﬁ;rﬁ!g.’:.dlrﬁ -
EIRILV] ..bel_.:u.“’/quf.-ﬂﬂd/L.L.é ):)J;'} -(nzr‘.)ﬂ._ulﬁuﬁgﬁpxﬂ&f_/z Jok L szfuﬁbup.:,..l_ﬁ &
Note: you have four choices for each objective type question as A, B, C and D. The choice -qf:d'f/;.:ﬂfr’
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 2 A

(1) Forinitialize a variable, we use _______ operator. _uf?_/UIa;‘l =T {?"LLL_/’/;: U’-‘lfﬂ’..{l (1)
(A) ———3 (B) = C @ (D) ?

(2) getch( )isusedtotake _______ asinput from the user. -c':_tﬁdb;qu_ﬁiu 2ol e hle geteh( ) (2)

(A) int (B) float (C) char (D) prmtf ,—\‘1“"/ ;
(3) Which of the following is a valid line of code? ‘:--‘\ - '.'""/ \\.\\ \|‘ f (’—5@”@&(@?&&'@ \ (3)
( ‘ .I' \‘ l A
(A) int = 20; (B) grade Af \ (A qc\n}we—\ms lsaltne' [ D) int=c

.

(4) Which of the following Lih@ &m‘mf;l’o{m c\\éch\a\ifatt\m of"c"? ) ‘.‘U'J’L‘L,QK ¢ «a f‘.—a{;-: SO 0] (4)

d/u(‘=\=0 \ \ (B)c%a==0 (Cya*c== (D) a+c==
W \ ~\L o
\?WIUF“\]#\ FI\[FJI ,s’the ____control structure in C-language. _Qﬁ/ﬁdaﬁ/ J:}rﬁ-‘:’gﬁfy:@-c %)
(A) Selection JD/ (B) Repetition ;inin,, (C) Relation ﬁz (D) Default /@
(6) Array elements are stored at memory location. ~ s L u’wz’ﬁé—f’ (6)
(A) Contiguous -~ (B) Scattered Z_m./{ (C) Divided a);(‘:;} (D) Add &
(7) part of for loop is executed first. weledt o n €4 for (7)
(A) Condition 4~ (B) Body (3L (C) Initialization #7151 (D) Increment/decrement of/.il.éf
(8) The functions which are available in C Standard Library are called: ,u_?e"._mf);i“/’;zru:d;f.’ub}a" (8)
(A) user-defined %3y (B) built-in ¢t (C) recursive (5zLF (D) repetitive S
(9) What will be the output of code? ?uﬁﬁkr-%;&?lgfxﬂ 9)
Void main ( ) Void main ( )
{ {
printf ("2"); printf ("2");
) ﬁc \
f“‘\\/
(O J
A) 3 B) 1 (C) 2 o \ ))
() (8) (©) X \l )Cl% E\
|
(10) Readability helpsto _______the code. m O /~‘ \K A & \\ g ¢ b} ,L»u,o&__u,&/ (10)
\ U o

%\a;n/i_g J o (D) Compile & /UL

A save LS ) di )(.}
o] \\\Vﬁm% i
NUNES
\, l

38(N)(Obj)( )-2022(A)-16000 (MULTAN)



: [ |
PAPER CODE 022 (ﬁ%\)\\ \\ \ Q/

o

mBER: 3833 ¢ ‘\ \\\ ‘)3 ‘A\AQ““XM cLass)
COMPUT%WQE NEW COUSRSE) GROUP-I by - ond (W) sl

T!M OWED 15 Minutes OBJECTIVE U"':L’,ﬁ w15 = &
MAXIMUM MARKS: 10 10= AF

A ik \ MBI L et s &si el D g Q6812 - L Es D i € B A Mzlp Ly i
EIR ! -fi.ly&)pi/ﬂjfu:@/f&d.ﬁi ):l:}b ,fmrakﬂywnﬂu:and/L& sk L L;mu’lmyb_g id
Note: you have four choices for each objective type question as A, B, C and D. The choice -;_,L‘f;d'}’:q;:.-mr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) Array elements are stored at memory location. _uj'é’,:zyﬁ’;.:,w: LZine u"ﬂiﬁgﬂ (1)
(A) Contiguous = (B) Scattered z,m_/{ (C) Divided a}(? (D) Add &
(2) part of for loop is executed first. e e o ¢ for (2}
(A) Condition &~ (B)Body (il (C) Initialization 714 (D) Increrpenﬂdecrg;nqu/.jtﬂl \ U \
o T K ~ \ A" g
=V
(3) The functions which are available in C Standard lerary are q‘c'ﬂled f—w, ( / \l‘Y‘S\LM/—P‘i’:i?@\G;/U:mr (3)
. ( ) ,._‘: \ \ \ \ ~
(A) user-defined iy (B) buntrln w f’(p) \recqrg,lvé‘ u/ul J ) (ﬂS) repetitive d/l;
- . A
(4) What will be the outpuk&@de?v V‘V :f\., \\\ o sl s (@)
Void main ( ) \ A\ ".\ ".\ 2i%ia Void main { )
\ j | QUL {
c l N \J
\ llp t printf ("2");
} }
(A) 3 (B) 1 (€) 2 (D) 4
(5) Readability helps to the code. _Laéfuuf 5;(;:’&&&/&_ bZ ¥ 5)
(A) Save Lk (B) Modify _/f%#  (C)Run itg (D) Compile & /U
(6) For initialize a variable, we use operator. gl ST ﬁg’.&i./y’u&‘l&:":‘.ﬂ (6)
(A) ———> (B) = € @ (D) ?
(7) getch( }is used to take _ as input from the user. _c‘_mdb&'l_iiéi ]| = —ile getch( ) (7)
(A) int (B) float (C) char (D) printf
(8) Which of the following is a valid line of code? w EAvuie syl ®)
(A) int=20; (B) grade ='A", (C) line = this is a line; (D) int=c¢
~ A
(9) Which of the following is the condition to check a is factor of ¢ ? e ,ﬁs’ ¢ xa I;cﬁ&qwff% Xf
(A) a%c== (B) c%ax=-= \@ WB\“A\“/ )
. Y '\ \
(10) Sequential control is the control strluct\ru Tl)l\C'i %ﬁge\ \.) 4&5«}:'} 1 J,/J’Fu'éﬂc (10)
T\ / \ \
(A) Selection ¢ o O \\ \ (ﬁ%)/ﬁkpgf\n \) ‘t(f Relation % (D) Default 2}
\ A\
B
\

Obj)( Y IX)-2022(A)-16000 (MULTAN)
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w\\\ \\ Jﬁmﬂdu

g iDAI?ER CODE A Oz 5,
NOmBER: 3835 O\ ”ﬁﬁ\f"\ "5,“ ‘“’CT“ASS’
COMPUTW cE\\(}hE&rc\:c\)us‘ésa GROUP-| by - oo (i) lnd
D: 15 Minutes OBJECTIVE (%o 2215 =
MAXIMUM MARKS: 10 10 = /Lﬁ

Hech b I3 O L perne b i dsi L g1z - 145D 1 C B A eMr el Jrr i
{.;{.;Ilnf 1 -h’i.lgk:uf.‘}f,)afgﬂojﬂ(;mi J@;‘?b -fn;ﬂﬂ._«lﬁuﬁuﬁeu‘g&../z oy L L/ﬂuﬁbupc,_ﬁ il
Note: you have four choices for each objective type question as A, B, C and D. The choice -Q),’:u“'}g:alllr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1

1 /:‘Ulr

(1) Which of the following is the condition to check a is factor of ¢ ? e B¢ ¢ a S Qb Sl (1)
(A a%c==0 (B) c%ha==0 (C) a*c==0 (D) a+c==0
(2) Sequential control is the control structure in C-language. J;,‘r'ff;f.'fﬁé,-@-c 2)
(A) Selection Jﬁl':w (B) Repetition i, (C) Relation uﬂ (D) Default Jhu/r \\
(3) Array elements are stored at memory location. . -U"L!’M’{I&Q&‘\\_\J_;_rf_‘ LL‘EJ Z;.A . (3)
(A) Contiguous L+ (B) Scattered zxd//f, ((E Dl\hdgﬁ( wr“ {D]\Adﬁ &
(4) part of for loop (i g}ekequ&eﬁ ??éh \ g \\ \J/ — N\ _.T_D';éc_g;_,xy K dfor (4)
(A) Condition g< ’ ! \! \ (B,l Bthy .5)( - (C) Initialization %7 1% (D) Increment/decrement u{/.iul
(5)- The Lf‘r\éﬁ?ou\h c!h\are avanlable in C Standard Library are called: ngMf«E’;ﬁfufd«/ﬂ'ﬂ:’/ﬁf‘ (5)
(A) user-defined %~ iy (B) built-in @it (C) recursive u"/)l/ (D) repetitive dx'/F
(8) What will be the output of code? (S ss T (@)
Void main ( ) Void main { )
{ {
B (27K printf ("2");
} }
(A) 3 (B) 1 ©) 2 (D) 4
(7) Readability helps to the code. Y - Wepledivly  (T)
(A) Save o Jb# (B) Modify i/f#  (C)Run ik (D) Compile &/
(8) For initialize a variable, we use operator. gl S AL L S (8)
A —— B) = C) @ (D) ?
(9) geteh( ) is used to take as input from the user. _:_tfdl.-f'é_f_d{uul .r_,_JJl.-v /e,tch(r‘)f\ {NQ)
. \ \)
(A) int (B) float ) char o \\[l )@tf\ \\, k/
(10) Which of the following is a valid fine of coge? \‘\Y\ ‘"c_f s/t (10)
H‘ \ K) \K_./““

(A) int = 20;

QNN NN ”\N

\.,(G))Ilne = this is a line;

8(N)(Obj)( T IW)-2022(A

(D) int=

)-16000 (MULTAN)
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" |PAPER CODE

N®mBER: 3837 of'\

0\ ?

T'U:”/‘

COMPUTER SWF €ouUs RSE) GROUP- by - oo (b)) Sl
TlM 15 Minutes OBJECTIVE u"ﬁi'ﬂ w16 = =y
MAXIMUM MARKS: 10 10= AF

Ao of L S 3o Al e u;/'béCé.J&VLJlr/{Q(dL? -Lﬂéé_J D sl C B A :.-Uﬁ.‘—@bédlff -
424U -K(_I,L;u"/d/{_}:wfdlf % J(J:/b "rﬂn"wutfu.&-ufuszfd_& Jo¥ L .’../quubuha..f Ld
Note: you have four choices for each objective type question as A, B, C and D. The choice -de’f._alﬁr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) getch( )isusedtotake _______as input from the user. _,f_t:cdtv'flé‘_ié__:x;u! e ilegeteh( ) )
(A) int (B) float (C) char (D) printf

(2) Which of the following is a valid line of code? e G el @
(A) int = 20; (B) grade ='"A’, (C) line = this is a line, (D) int=¢ #_\,: \

(3) Which of the following is the condition te check a is factor of ¢ ? % ”“Lc_/é.é c [ Jc:Jb.u/ﬁL@gQ‘UI‘ B ~(‘3)

\'\ ‘el I’ ')

(A) a%ec= (B)c%a Q} — mra ba;o\‘ \m)ka*f‘c:’
il \l { | . \ \ \
\ . \J } 2
(4) Sequential control is th? cqniﬁr‘smiptuie n t iangM e‘ e :r_ E’/V,/ J;/U’J}:JE &c 4)
. \ .. | \ v_\ .
(A) Selection P \ ‘ H {B) Féeﬂem'bn L,....m_;_u (C) Relation rf—‘iﬂ (D) Default /i
Arra Qkirkédw \%dt‘lare“dat _ - memory location. -._Q‘Z.ns:ﬁf‘;:,uw Ly “'/LL.:__A (5)
\J A) c:om.guous.u» (B) Scattered ._f_/ (C) Divided ,,Li,»:"’ (D)Add &
() part of for loop is executed first. e D i Kod for (6)
(A) Condition b/~ (B) Body (it (C) Initialization S (D) Increment/decrement Shwi
(7) The functions which are available in C Standard Library are called: Y I u/‘«'f;if’},am:u{frusu‘;f (7)
(A) user-defined 7@ 5.0y (B) built-in et (C) recursive Q’-{,r)‘ (D) repetitive G F
(8) What will be the output of code? 0GafocnddBn (8)
Void main ( ) Void main ( )
{ ’ {
printf ("2"); printf ("2");
} !
(A) 3 (B) 1 (C) 2 (D) 4
(9) Readability helps to the code. 2 diact Jf;funﬁ_.t_aig (9)
i . ; f\
(A) Save L /b# (B) Modify .»,.J’wf (C)Run &1k D—)’C‘omplle f\
f(:' %\ \ \
(10) For initialize a variable, we use operator JU @5@ ﬁf*

o A7 R ORIy BV
N Y\‘ \\(‘ \\\ > N)(Obj)( ¥ TEI)-2022(A)-16000 (MULTAN)
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PAPER CODE 0\ 0292\2 @AWY (=

=T M\ \\

. \
NUMBER: 3832 O\ ¥ o ( \ C ’P"\m\“' fU“f‘ClASS)

COMPUTEQIW@CE \l‘(NEW\E%OUSRSE) GROUP-II Lo - .;.,)' (i) St
TWM\%\ED 15 Minutes OBJECTIVE (/e ot = S

MAXIMUM MARKS: 10 10= /LF

e of |\ SAS I 3L Nrmene f U &s g J6317 -t LD I C B A 2zl lJys )
22Ut KA i Si Ll St B masdi B SISk | LSl ] s
Note: you have four choices for each objective type question as A, B, C and D. The choice _q)::d’?}..:.mr

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A
(1) For initializing a variable, we use operator. Y2 P (?é_g‘f.i_.)"/’ Il (1)
(P memngt (8) = © @ (D) ?
(2) Which of the following is a valid character in C-language? ‘-'{—uug,ﬁ'é:@-c A oude (2)
(A) "here" (B) "a" (C) 'a' (D) 115
(3) In C-language, which of the following is logical operator? “a//'gybdfcuf/w5ﬁkﬂ \ \
" + ®) < AN | (L;)/ NOT) ¢ Cadn
(4) An if statement inside anotl‘iir if stalement l.s f,(-/] :r (_?_ r?\v%ffyﬂﬂ |f ul.ﬂu.l.«i_x“’ it /i (4)
called structure( ) \ \"-;f ;ﬁl u *. \ \ N\ : T
(A) Nested }: x X | (a) Boxed u’y (C) Repeated J-r (D) Decomposed 5;';/-(5
(5). {\lt“{g fhé\jf?[}uv\nﬁ éﬁl cbntrol statements except: IRPANTEY u’c}ﬁyfffﬁuﬁd s (5)
'\ A) Sequential J"",‘/ (B) Repitition ;aiiy,  (C) Selection uﬁ? (D) Relation ¢ %
8) structure allows repetition of a set of instructions. -C"-VMJV:"‘ALLD?)JL/P’/L;L-;L‘{A'/ - (6)
(A) Loop .?«J (B) Conditional L:;’ (C) Control ;_Ja}f (D) Data Lk
(7) Using loop inside the loop is called: -cl-rwwi(.;;’.f;lcﬁ..r)’ 7
(A) For (B) While (C) Simple s~ (D) Nested 2#
(8) The values passed to a function are called: _qu"}LH/u:’J:JfJJkLiE (8)
(A) Bodies 3L (B) Return types #tuks  (C) Arrays z! (D) Arguments U~3s7
(9) What will be the output of this code? _L;}T-Lg.-bfTJjﬁrJf (9)
Void abc ( ) Void abc ( )
{ {
printf("Punjab"); printf("Punjab");
} }
(A) Punjab (B) Pun (C) Pak D)’-aklstan /_‘/- \\ (\d j
(10) If there are three retun statements in J’\ /& e ﬁ- ‘)“Z‘J‘f’ ﬁ;/%m@\tv”ﬁ? (10)
the function body of them will be é)(e ut,eq(‘—)\l ,«/— ﬂ ‘\. \\k ) -\ \__\ W 1'-2'
(A) One {i Q\q\ TE‘@\ w@ V,«l;\/ l' \" \jey}HéZ et (D) Four sk
1) AL L
J \ \ 'x AW ™ 40(N)(Obj)( ¥¢)-2022(A)-10000 (MULTAN)

N QNN \‘\



\ f/’ { "-' \) "' X

- f @Sc P&Rﬂl h"CLASS)

COMPUIEQWJSNQE m:—:w COUSRSE) GROUP-II b - s/ Colol) wv}g/

\JALLOWED 15 Minutes OBJECTIVE (f3/%e sl =

MAXIMUM MARKS: 10 0= AF
A f | ):Lﬁf’;}wabé.,.ma_we_gﬁ u;.?bﬁ:é_-.lé‘.bédh’/,'{qwlﬂ _ujéé_.: D sl C<B A aL’ﬁkﬁde‘fﬂ 0¥
{342V -VLQLJJ/.}JIJ@A‘JL)EJ 1@;}1} -b'mfaw.,«lmzﬁu-‘.anJL_& Jok LS stuskic ki -2
Note: you have four choices for each objective type question as A, B, C and D. The choice _\,{/TJJ}QJ&U‘Y
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 Ry
(1) Using loop inside the loop is called: -la.fﬂfgpffvﬂhﬂcﬁ?dj (1)
(A) For (B) While (C) Simple s34~ (D) Nested &=
(2) The values passed to a function are called: -J_?Jﬂ:’/..u:‘ffJch;B (2)
(A) Bodies zi{ (B) Return types ‘ﬁlwﬁz (C) Arrays 7.l (D) Arguments ;_;:* JT'V-_\,::—\.I
(3)  What will be the output of this code? (K i“x‘ WA .'(\3)
Void abo ( ) O ¢ wua A%
{ ‘ [
printf("Punjab"); o~ printf("Punjab");
(8) Punig, \[] | \ L _\ (ByPun (C) Pak (D) Pakistan
(4) \Lft(}érpa “eefletun statements in _Jﬂ/g ;Juﬁiuﬁ%ﬁ;ufdfdﬁgu;@ﬁ (4)
the functlon body of them will be executed.
(A) One {i (B) Two s (C) Three & (D) Four sk
(5) For initializing a variable, we use operator. _ufZ_/Ulr;’lj:{;I . {-4_&&'../(5 WA (5)
(A) ——> (B) = € @ (D) ?
(8) Which of the following is a valid character in C-language? ?:_-_u»uff;}@-c }{,fvufc;uful (6)
(A) "here” (B) "a" (C) ‘a' (D} 115
(7) In C-language, which of the following is logical operator? Yo ry Tdb L«U:c_JJU'C:k‘J C (7)
‘(A) * (B) < (C) % (D) NOT
(8) An if statement inside another if statement is et Areed i afialo i i (g)
called structure.
(A) Nested (B) Boxed A% (C) Repeated s (D) Decomposed u((: ,\\r \\.
(9) All of the following are control statements except: - qury‘o, L{[B ‘ ’ ‘."‘(‘9)

o \\ | |
(A) Sequential ‘_F’-?ﬁ (B) Repmtlon ‘_@.H_., \ (Q)gS’elé:ct\on JQ’ \\

b \Ra»amh fi

h. \\
(10) structure allows repetition of a_set of ms.tnlcﬂaps \ él;gdu{*d_ .*_;yruuftf&_f.f_'_,m A (10)
(‘_) \\' \("‘/— M\ '\ /\'j o3
(A) Loop \B\Ee (B ?;ohmm}»ai > (C) Control s (D) Data L3

I
.' .\ \I\\

40(N)(Obj)( TE¥)-2022(A)-10000 (MULTAN)
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PAPER CODE

c;;l\\iln \Iﬁw%&é\\ 1\131

D: 15 Minutes

QJMBER: 38--3695‘\5%% ‘\ﬂﬂ\f@w “CLASS)
é\l\’%OUSRSE) GROUP-II
OBJECTIVE (5.2

C

NG
(i\\\\ 5

I - 7«3/( ) Ux‘-"}ﬁr

MAXIMUM MARKS: 10

Ak \ A3 Jb Ll e U &si L gd12 L E s D 1l C B A 2zl Jivg

215 = <y
10= AF
s

{g{.élru’l .,f(_lrl.uﬁ’/dfpﬁuzr‘gfd_f .{J:Jub _Ifmrjwuliu:&gﬁ._ur‘JL_/l/ KL dJu;zbuL}c_.J it

Note: you have four choices for each objectlve type question as A, B, C and D. The choice _qf;fd')}.;«ﬂlr

which you think is correct, fill that bubb_le\injl‘ont of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve guestions on this sheet of OBJECTIVE PAPER.

Q.No.1

(1) All of the following are control statements except:

(A) Sequential FHE (B) Repitition ity
S e

<1 /-_}Jlr
iU A s (1)

(C) Selection (D) Relation /%,

2 structure allows repetition of a set of instructions. ,q.txdb&!é__{_'ay;»m;&_:féaL!,g}:j' (2)
(A) Loop ¥ (B) Conditional b5/  (C) Control Js &~ (D) Data L} ~
5 ,\/\” X
(3) Using loop inside the loop is called: [ < Wwﬁffw;*z’ \\(3)
(A) For ® whie _ {(C) Simpie e \\ l{@@@s&\
() 1\ \ \ \ .‘ \ '.
(4) The values passed to a functlon are called \ /7S F/ s \f‘\ \) '\ \ "-»J [ »_.‘* Ut dlﬁ'{\f'j i) JJ qu‘f’ (4)
/ \ \\ v, \ N ;
(A) Bodies 3| J ‘-. Y “(E”;\R&t\irnwty}:eé uity// C) Arrays . (D) Arguments ST
(5) What il be the o Lrput pf¢his dpdve? V- et (5)
7 VO]g%}:t\J)‘\\l Void abe ( )
{
printf("Punjab"); printf("Punjab");
} ' }
(A) Punjab (B) Pun (C) Pak (D) Pakistan
b oy
(6) If there are three retun statements in _u._f.l';/ .:,u.“u!?uﬁu"”'uj-.;u:’u:djgu—*”ﬁ (6)
the function body of them will be executed.
(A) One (i (B) Two s (C) Three f (D) Four .
(7) For initializing a variable, we use operator. -ujL/UL-;'I}:{;l ﬂé.éi.)"/’ Uéfb&_’;-...ﬁ (7)
A) —— (B) = € @ (D) ?
{8) Which of the following is a valid character in C-language? ?lL-‘.:r’JJu':é}Q-C j-’:’ﬁrufr_.u:u! (8)
(A) "here" (B) "a" (C) 'a' (D) 115
() In C-language, which of the following is logical operator? *’a;ﬂdyuufr_u“ul‘_/"é:QE\/\(Q
)
(A) + ®) < ) % QoY AONWL
7 \_/\K &
(10) An if statement inside another if statement is r - \}%// C@Q =i (10)
) O
called structure. \ \ “

\\—\

\ )
WWW il

o~ V \ (-5
(A) Nested 2+ \ ( cmed\‘ \J -

Repeated g (D) Decomposed ;‘Jg‘-(i

N)(Obj)( W ¥ 7¢)-2022(A)-10000 (MULTAN)



PAPER CODE z/oki \

| | thJe—LAss’ -
r.JMBER: 3838@\(\\\? ﬁSO K\RT }\/\9 )
COMPUTER sﬁl\ﬂuo\s\\ \QE GUSRSE) GROUP-II s - @ Ll ) Slted
IWIJL MD 15 Minutes OBJECTIVE U"Jff.al? 15 = =
MAXIMUM MARKS: 10 10 = /"f

Ao ch | .&LJ:}IJJ&?JWZ._,—MMJJLJ u;}bé’:{_;&b&d'rﬁ{(éfdlﬁ ..u_!é{_: D sl C B A QLL”L‘E?L‘JI’” s
EYR T -b'i_%:u:‘j'_"'dfu‘:gjf(}"g)::.é J(JJ?D -&Jrjw.', Ruﬁu‘:cufzﬂ_/z Jok L L/Ju,;u.;y.:_._.g &
Note: you have four choices for each objective type question as A, B, C and D. The choice -(_[/';‘J'?:q:alﬂr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) In C-language, which of the following is logical operator? ?gﬁ.{TCﬁ’buuf;ufufufér@-C (1)
(A) + (B) < (C) % (D) NOT
(2) An if statement inside another if statement is ce bl A i shlaloF g A (@)
called structure.
(A) Nested tsz (B) Boxed A7% (C) Repeated s
3 .r"‘ ln \ t" \ U
(3) All of the following are control statements except: - \\\\ \‘i"l?"#’ %M L2 (3)
(A) Sequential L}""’J‘:’ (B) Repmtlon 0“"‘”‘%”"- : (C] éeléect\o,n cf?_ \ ,(D\F(elatioﬁ (Ui,
71\ \ [ ( \ \ V) v
(4) structure alloxys\r?ﬁgtmon,o\,e”se\t of 1{15%(@@ ‘--.l C;NJ/L\-'ILQL.I/- b l.r..‘_ L .,,!uf/.f','/ o (4)
(A) Loop _J la ‘.‘ \ m Qon%nafbsf (C) Control w/ (D) Data &3
(5) Usm lQOp\l (ﬂl’lqep Lséaﬂed N _larUcUWJK_E,ﬂJIILT;' (5)
\l Af) ﬁe«l \ - (B) While (C} Simple »l (D) Nested %z
(6) The values passed to a function are called: -u_fJur".w“‘-;ffugfu‘“ﬂ 6)
(A) Bodies il (B) Return types ._,’ﬁ'L‘._yjz,r (C) Arrays . (D) Arguments Ju}fjf
(7)  What will be the output of this code? -Lfn_*q.:.if'b iful (7)
Void abc ( ) Void abc ( )
{ {
printf("Punjab"); printf("Punjab");
} 1
(A) Punjab (B) Pun (C) Pak (D) Pakistan
(8) If there are three retun statements in -gfu.’lg/}‘_j_ guﬁuﬁun%ﬁ@fgﬁdsgu—i@ﬁ (8)
the function body ____ of them will be executed.
(A) One i (B) Two = (C) Three £ (D) Four U
(9) For initializing a variable, we use operator. -;_,:rL/L'L-J'l,'—./;I fé.._,_f/ D»;,",—”‘Ch/’\(g

\( \ U
3
W —3 ® = ©e \ P@ \
{(10) Which of the following is a valid character i |n C- Ia@}ge7 \ Y A ‘ ‘ \ O }Yu} /"‘/(lfufc—un"' (10)
\
115

(A) "here" C) A\ JLB/LJ- \// ’/\\\ I\JC)' u\{‘ VLA ,
/—\ \‘. r\
\\\ (\\/\\ \\ JoiN) o) *ﬁr‘ihh’ir) 2022(A)-10000 (MULTAN)
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